Vector worsheet

1. Consider the vector v = 2i 4+ 3j and the
vector w = 4i — 2j

(a) Compute v + w.
(b) Compute v — w.

(c) Compute 2v.

2. Consider the vector v = —2i— 3j and the
vector w =1+ 2j

(a) Compute v + w.
(b) Compute v — w.

(c) Compute 2v.

3. Consider the vector v = 6i + 6j and the
vector w = 5i + 5v/3j

(a) Compute the magnitude ||v]||.
(b) Compute the magnitude ||w]|].
(¢) Compute the dot product v - w

(d) What is the angle between v and w?

0 — cos-1 (&)
[vIlIw]
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4. Consider the vector v = 3i 4 4j and the
vector w = Hi + 12j

(a) Compute the magnitude ||v||.
(b) Compute the magnitude ||w||.
(¢) Compute the dot product v - w

(d) What is the angle between v and w?

0 — cos-L <g>
v lwl]

5. Consider the vector v = 8i + 6j and the
vector w = 44/2i + 4\/§j

(a) Compute the magnitude ||v]|.
(b) Compute the magnitude ||w||.
(¢) Compute the dot product v - w

(d) What is the angle between v and w?

0 — cos-! (g)
v ]lw]]



